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oFFH 57,7203 x*9H »52 27,013
o522 57,7202 * 150%*9H 68 52,987
o ZHAIY| 5,000 *9&H x248 11,160
oHAESFIIH| 500,000 9% +23| 9,000
oRgsdsd 57,7202 x9H x 15 7,793
OJ12HMl =Xt 68,666
ollgza 76,9603 2H 2482 33,173
oFFzH 76,960 x2H x52 8,004
os5d2RE 76,9603 * 150%*2 X 68 15,700
o Z2HAIY| 5,000 x2H 248 2,480
oHESFIIH| 500,000 224 +23| 2,000
oY 76,9603 x2H 15 2,309
OJ12tHl &ZH| 106,949
oJlEa 115,440 3% x260! 90,044

o HEQIt 224G
9,620 *50%*8A| 21 x260 10,005
o ZHAIY| 5,000& *3% x260 3,900
oHAESFIIH| 500,000 *3% 23| 3,000
oAl 282 46,520
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ocllEEEE 412,400,000& *1.8% 7,424
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150,000 #23] * 14X 4,200

201 LEr2AH| 76,778 66, 168 10,610

01 AtR2teld| 64,098 49,888 14,210

=01l A 64,098 49,888 14,210
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O=Fxddla 29 AR5 ¢
120,000 =123 1,440
ORIFHIAIAE RX2e
800,000& x12& 9,600
OASHED QLU0 FHREY +42
395,000 *2CH*13] 790
OosSdets H&EA AIZZ2
44,0003 =123 528
OINEZHMUZ FH+=2
1,200,000,0002*3. 185% 38,220
OUEAIAE S22 4,800
OARE(ZXEE QI5HK) ¢
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OHEXEE 7Y ME= 2,000
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OXR3 10,0003 = 12& 120
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=04t 2,832 2,640 192
SEEDISEESY
88,000 *2H x2 63| 2,112
O2=c 2HA ARUS
240,0002 »3H 720
206 M ZH| 30,045 30,920 A875
01 =4l 30,045 30,920 AB75
S0j &t 30,045 30,920 A875
Ozscek2g 483 360,000 =123 4,320
OSIMA&Y XM (3IERIX) +¢
40,000 *26JH 2~ *33] 3,120
OMZ=H 2 500,000 & *2JH4 1,000
0=zl BE 7¢ 30,50021x24071 9,480
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A4 AZPY 300,000 *43 1,200
Oxgd ##2l8 Mz 7 5,000
OSR2ANE sX2e 228 74
100,000 *107H 2~ *43] 4,000
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, 5003 *5001 1,925
401 AMIEBIZ U] 176,500 122,300 54,200
01 A&t 176,500 122,300 54,200
204 & 176,500 122,300 54,200
Ottt FIIHAF 23 Ml 2E
20,000,000 13| 20,000
O=Schdd| &BHD],3tED| tNME A 2
o 10,000,000& 23| 20,000
O=2Sct el &H WH
15,000,000 604 90,000
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OME2 AHMEAL HE2H J1EF HE
20,0003 %300 6,000
OX ZEUE 2AZ
500,000 *1Al2tx13] 500
02 =23l 43,000 31,000 12,000
204 & 43,000 31,000 12,000
OMga 29 23 =l 3,000
OXN&2 ANlE&2 ®Al2e 40,000
202 04l 2,640 1,944 696
01 =LHO4 L] 2,640 1,944 696
20/ & 2,640 1,944 696
Ous=2Zg A2 =&
88,000 *3H 2 +53] 2,640
206 M=l 12,000 27,000 215,000
01 M=l 12,000 27,000 215,000
S04 & 12,000 27,000 215,000
OY2H HEE MHa 7 (30oHE, MY H
g) 30,000 =100 4 & 12,000
307 QIZ2t0| A 1,800 1,800
01 S22 1ZH| 1,800 1,800
20/ & 1,800 1,800
OCSHMEALLLX AP |1RE= 1,200
Oof4 Fg435 7 600
401 AMEBIZ U] 35,000 30,000 5,000
01 A&t 35,000 30,000 5,000
20l & 35,000 30,000 5,000




ol
i’
oF
ol

(] o lo|lo O o O ol O (@] o lo|lo O olo O o o
81818 8 s 38 g8 8 s|8|8 8 s|lg 8 |8 S
g|8|C 8 8 7212 3 BlBR R Sle 2 |8 @
o 1o O o l|lo|lo o o O o 1o O o O o l|lo|lc o ol O o
a7 s|8 8 R|g|18 8 s 38 SHISRS! S s|g|e 8 s|8 2
wo
R0
lHKY
il
d
O oOololo O OO Ol © © O© O O O O O 9Ol|lolo O o O O OO QOO0 © O O Ol © 9Ol © 9O |lo
s g|lglg s g|d|glessss8s8838 8 3§88 88§ {|g|glass838318188888 8|8
o gle|e e Sp|g|e e - md8gg @ gIv- - ~— - - ~Iglglg g8 e Slg|8 88|88 s|¢
3l 3l
RO
S R0
= ol o] Gy,
P © 0 3
oF) * a0 (4]
or Ulo o [} 7o)
%0 8 g k4 g
Tl DM NS o m
: = 0H
n—
mﬁ S— |
= |y ol o o
U e I+ = i <
T ez Ho = Bl =<
= O|IR W 80 W E =
oo < = ak 2w 5
- [ HJ c n |z B0 =
eI £ u % &+ = T e
ooz =l ) o = 3l - < Al | ™ < = =
. | E Al = = A |4 < Mo °
- |v o W G < =L < I o M D|H 30
U TR e d) eed ] SR ol g SDoour S (Tl T e - i
RO |O O|r|T & =<3 O0® s O = "3 O | s 000k |T3 O|R
. |5 I s W I 1] T W o) 0 |z W |3
g S o) S il
IF i ]




S BROIETE B
Bu: WIOK OLE2E SHHASI=T /0l - BAE)
e BEONED 2 (2ol 2@
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 21,500
Al 21,500
03 AR HH| 43,000 0 43,000
& 21,500
Al 21,500
S0 A 43,000 0 43,000
& 21,500
Al 21,500
OFEHeHOtM IO AL JHZ 43,000
== 21,500
Al 21,500
401 Al&HILL0HY| 17,000 0 17,000
== 8,500
Al 8,500
01 Al&H] 17,000 0 17,000
= 8,500
Al 8,500
=0 A 17,000 0 17,000
< 8,500
Al 8,500
OEHBHOI M A LI0H SHALE RN 17,000
& 8,500
Al 8,500
SHMSAAH|(SH=2CHE IS 2) (DIEHDIE 55,340 2,021,271 A 1,965,931
JlE23d| 55,340 71,860 A 16,520
J23d|(SH=tEHIE ) 55,340 71,860 A 16,520
201 LEt2 A 47,540 61,220 A 13,680
01 AF22telt] 47,280 60,960 A 13,680
=0 A 47,280 60,960 A 13,680
OFMEY JI12&H| 200,000« 12& 2,400
OAIREE FYU(2AHI S)
240,000« 12& 2,830
OMga 24 2258 72
120,000 =128 1,440
QEAIRD|D| ARE 2 11,616
oS A 240,000 *3CH*4 0l +23] 5,760
oIRIED|(EW, 22AE)
240,000 *3CH*4IH =1 .53] 4,320
o IZIED|(ZtH) 240,000& *3CH*23] 1,440
oA 96,0002 *1CH*13] 96
OXI2EXHZ 20,0002 x32x12& 720
O=8)| = 150,000 20 = 12& 3,600
O&=zD| U= 51,000 *8LH*12& 4,896
O= &l 8,000 x23H 6 « 12& 13,248




ol
i’
ok
ol

a1
0 &
= R0
K 80 o
oJ 0B B0
M &0 1

i) T ~

o O oo O OO O o O
SHESARS: J|e e IR
- 414 < ~ < < o o
m_m d IR
E
E=)
o O oS O o1 O o O
= Q 8 S|D D S8 & L X
o&) == = S NN S ©
= 3l
=
[}
S
d
o O O O OIS O O O O O
SIS TSIBIe2288¢E R
< = = 2|d|a a & & F <
al 3l
< RO
S M0
all ] B0 m
w |5 3 A
r ~ OF OF
[aN]
% o o g g
Q
ks g S 8
a g 8
<
I+
=
Iy 5| | @3 3w
N =S >l &J
= 2 KF KF
3 Kk Kk
iol 2 ok ok
oF 5 - _|a 2 3l
T P = I mﬂmw_ w3
= | o DT o SN w o, T o
=) %QOM_IHEAI_HD_.HOM_@@_.AI_E.
K0 |O S 0O|ls S Ofa = O = O
. N NERL =R S
3 lav} lo¥}
I+




